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Angular distribution (LABS)

n 2n




Angular distribution (LABS)

n 3n




Angular distribution (LABS)

n_na




Angular distribution (LABS)

n_np




T U U
(SWOQ) uonnguisip Jejnbuy



Angular distribution (CMS)
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Angular distribution (CMS)
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Angular distribution (CMS)

nnb»y




Angular distribution (CMS)

nneo




> e

& ° oo

RSN e S -

AOAW/V& rdh e,

&7 s ol >

S R )
2

T
(SWD) uonnquisip E_sm:m



Angular distribution (CMS)
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Angular distribution (LABS)
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Energy distribution (LABS)
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Energy distribution (LABS)
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Energy distribution (LABS)
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